EANRAROBREIEHRT — 2 N—XBISYH —F 201545838 (A) 1E%E2H

AR BRI S [xwlw | lmEmml - [ ) o 8
[A&4)] 1 7% :7,000,000 23 :2,800,000 ™ ~ 33 :1,800,000 ™ 43 :1,100,000 @ 5 j& :700,000 M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. NP LRt :08. -1-1- . — SRz (ER)
RAXHT =) o7 aeR 3(0_8)4 1-1-1-1 | 13.0 2 (4_726) s
R:ACVIVAZH B:RAXHTLES IS
- =50 5 | FRfEA 3:08.5 10-9-5-4 | 13. — 1 4 A (EX)
d—-l7rrEeE—0O— # 60.0 (1/2) o 50 (ff) BREAL ST
R:Y2RYZYRIR B:FTULEXT—K () #A1—-KL—va>AET7 7
R . AR — :08. ~5-8- . - EIEERE (ER)
ALY —L i o4 s 3(70?:;5 6-5-8-7 | 13.0 1 (4_884) iy
R:772UL7 B:7>TLT Ela=X njibiec)
o LS o4 | WARERE 3:08.8 4-4-5-7 [ 13.1| — 4 446 | REEfR— (i)
JREINKZ 59.0 ( 3/4) ) (\) EviLy F77—4
RHLRA Y E =g BiALT—RINES *7— Fiip
— " HhiEEA :08. -9-5- . — A= (ER)
55|77 1 —TAN="Y R 3(30/%9 1-9-5-4 | 13.1 5 (5:122) S
LiN=YTF14 B:NLNT R B AR
S #o4 | AREE 3:09.1 1-11-8-7 [ 13.1| — 6 468 | ELARR= (ER)
67|11 77 AT —2F— 59.0 0 wg) | ) Reh- 2757
L:ALT747 B4 I40-2X FRESS
N N . Pt SEa : —3-4- - i
7 6|=v/777Ly K [B] 7 6%3 i 3.(029>.4 3-3-4-4 [ 13.1 3 z:gz); géié (=)
A:Giant’s Causeway R:vZJF/IN> K Gieflipae]
S s 5 | LEH 3:09.8 6-5-2-2 | 13.1| — 9 476 | EEESES ()
g|8[13 ALY Y 80.0 2 1/2) Lo |HliEE
x4 aghayy B:E4 T 8-F) =Eicbae]
N - fEFEth :09. -2~ . — fEABE= (EX)
ol5 g 7Lt bARS— (B] 4 | pE w09 | 2222 11| - 0 | |
¥+ T7R74—-7 B:JFFT7ET bxse]
D o [ FA AR :10. ~7-8- . — 1EEEE (FEXR
10l 111 =N P 4 Bl 3(120)2 8-7-8-10 | 13.2 14 (4_228) e
LB RA Y E—Y BL—YTRITR e EE 45035
. oo T : —7-11- — MTRLT (EXR)
11 4 A4y RO o4 59.0 (2?'4;) rmien 13-4 8 ff) *’3715;?&
R:VZRBE—IZ248— B:F4—-Tt—% L e ]
N EEFKER : —11-12- — BRRE (£#)
ol ol T>TLRT AL it 4 e 3.(185).0 13-11-12-12| 13.5 13 (4_566) e
L:Urh—r B:/—=TLIFA b e B
# o5 | B 3:28.2  |14-13-13-13[ 14.4 | — | 7 | 460 |ETEES (BR)
13 9| F¥avwIT—Y%— 0.0 (24 4%) (-00) | (B) TS
R:¥xrinqo— B:T7HYHTTov b B
0 N N =HFE _ — = FIEZE (£#)
¥x| 8 14| RIVFzLH—- b “4 B0 (shik) ¢ 2 (4_520) [ i
RiwYYLETyk By — RKLFx BEZZY K
@ 21 L
£y 50.0-37.6
ngraAq L
® I—F—@EBIERL
|S=7r= 2,8,6(10,14) (3,13)-(4,1)5(7,11)12=9
23—7+— |[2,8,6,10-(3,13)-(4,1) (7,5) (12,11)=9 14
== 2-(8,13)6(7,10,5) (3,1,11)=4-12=9 14
Mal=5r= 2-(8,13) (6,7,5) (3,10,11)1=4=12=9 14
[ RN
-y 2 3400 | | A K 2-5 320/ | | B = 2-4 410 | | =8 2-3-5 6,470M
# B 2 140/ 2=3) 2,000 B E 2-5 730M EE 273 22,740
5 150 3-5 1,730H B H 2-5 1,310
3 570M

ABICOVWTRDTEEERROODE. TR LIV,



